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RVOWD YXBX2 ®n1o77 nX 1°192 — They build the wall in the middle;
that is obvious!

Overview

The X 3 concluded the discussion concerning the 7" that 7% means a
wall (negating the possibility that it means ‘to divide’). The X713 then cites
the mwn which states ¥¥nX2 M5 NX 1112 and asks: !Rvws It may seem that
this i1s a general question on the 71wn regardless whether we maintain that
m¥nn is either X7 or X%, This view may be bolstered by the following
X7m3, which challenges prii 7onw IR? 7RI »rm?2!' The X3 continues to cite
no less than six sources (identified by a preceding jn°0) that contradict this
view. This would seem to indicate that the questions on the 7"2 who
maintains P 5Onw IRD 7OKRY Pn, begin only at this point, and not by the
previous question of X wd; which is a general question according to either
opinion. MmN will negate this view”.

T°72 K73 KT I8»h — This question is (only) on the one who maintains
that the word %17 in the 71wn refers to a wall

17:,7’377 270 7377 2 15 — just like all these questions mentioned further in
our X3

mooin will first explain why this question is valid according to the 7" that 7%°m1 is XTI

X713 Ny upwsT — for when they contracted® to build a wall, it is obvious
that —

7T 5 v mapt 99 — that this one contracted to build the wall just as the
other contracted to build a wall. They both took upon themselves a contractual
obligation to build a wall jointly. It is obvious that the responsibility of building this wall
lies on both of them equally; in regards to material as well as to space. Therefore the X723
rightfully asks 'xvowo't®

mooin will now explain why there is no difficulty according to the 7"» that 7¥°nn means
to divide.

RN1YD KT I82? ¥ar — However according to the one that maintains that
7% means to divide, there is no question why the mwn states that they must build
the wall in the middle, for —

' The X120 that pr°a 7w XY PRI pi7 is contingent on the opinion that XT3 XM,

* See footnote # 7 to the ‘Summary’ for an explanation why the questions in the X3 are divided into two
parts.

? The xm3 will immediately pose six difficulties for the 7" that 7%°m» means X7

* The xm3 later (x,3) explains that when the 71w states "¥7w' — they agreed (to build a wall), it does not
mean merely a verbal agreement. It means that there was a valid contractual obligation to build the wall.
> See “Thinking it over’.
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2% b TMUION — it is required that the 71wn say so explicitly. For had the miwn
not stated that they build it in the middle —

RI2R 7°nYT XP90 — it would enter our minds to say, granted -

Lo 1°122 YYD W @S SR P awnT — that on account of 7989 157, the
reluctant partner is required to help in the building of the wall -

75 Hoawa i nab 1 PR 2ax — however he is not required on account of

X7 2177 to build the wall in his portion of the property. There was never a 1°3p
between the two partners to build a wall (according to this 7"7). We are obligating him to
build a wall because he is (also) contributing to the 7°X7 P17 of his neighbor. We may
argue (were it not for the mwn) that this obligation is limited to material but not space6.
The mwn therefore rightfully teaches us that 7°X7 P1°71 requires one to contribute space as
well (even by a 71?121 1°7 72 PRW 30).

Summary
The question X0’w» is only according to the 7"» that 'x71 7%nn. According

to this 7"n both partners contractually obligated themselves to build the wall
(otherwise there is no obligation to build anything); it is therefore obvious
that both have to give the space equally. The 17 of ¥¥nXa P07 R P11 is
seemingly superfluous.

However according to the 7" that XnM%5 nxnn, there was never an
agreement to build a wall; rather the partners are coerced to build it on
account of 7°X7 P, Had the mwn not specifically told us that it must be in
the middle, we would have given credence to the argument that 7°87 P17 can
only obligate one to pay for the expenses, but not to give up property.

Thinking it over
How does the X173 answer the X°wp of 'Ikpws' according to *mooin?

% The reluctant partner may claim that his loss of property (in a 7P 17 12 1Xw 137), caused by the wall, is
as damaging to him (if not more), as the resultant 7°X7 177 he is causing his neighbor. The lack of
mentioning Y¥nX2 70157 X P2, in the 73wn may lead us to accept this argument.

7 The reason that the X723 breaks up the questions on this 7'» into two sections; first the question of Xu"wd
and then the six following questions, may be as follows: The question of Xv*w5 deals specifically with the
translation of 7¥°rn to mean X713 This translation forces us to understand that they (contractually) agreed to
build a wall. Thereby eliciting the question Xv*w5d! The following six questions, however deal specifically
with the P17 maw W2 7RI P component of this opinion. Therefore they are asked separately (with their
own 11°0 designation).

¥ See footnote # 5.

2

Tosfosinenglish.com



